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The difference of two numbers is 15% of their sum. The ratio of large number to the
smaller number is ?
Y AT ST A IR ART T 15% Bl TET TCAT 3R BIET AT T ATUTH FT 82

= > 1.23:17
R} ':"j & 2.11:9

3.17:11
4.23:11
5.NOT



If A’s income is 42 6/7% more than B. then how much percent B’s income is less
than A’s income?

e A <hT 31T B | 42 6/7% 3Tk B, aF B <hi 37T A AT 3T | feha ITa9rd A 82

47 > 1.20%
b IJ:D ',
O o’ AT 2.40%

3.30%
4.45%
5.NOT



If A’s income is 40% more than B and B’s income is 20% less than C. then find how
much percent A’s income is more than C’s income?

e A T 3T B ¥ 40% 37T g AR B il 3™ C ¥ 20% A 2, a& A hT 31T C HY

I § ToRaw ufaoma stferr 22

( (£20) > =20

3.13
4.16
5.NOT



If A’s income is 60% more than B and B’s income is 10% less than C. then find how
much percent A’s income is more than C’s income?

TE A T 3T B T 60% 3Tk & 31 B &l 31T C A 10% HH T, a7 A i 3T C 6T
1 O TR utfererar srferes 22

4 \> 1.23
=)l
(J 2.44

3.42
4.28
5.NOT



If A’s income is 16 2/3% more than B and B’s income is 14 2/7% more than C. then
find how much percent A’s income is more than C’s income?

i A Y 3T B A 16 2/3% ATereh T 3R B hl 31 C ¥ 14 2/7% ATk 2, ar A it
T C 6T 3T | fora afaera 21teres g2

w m> 1.25
2.331/3
3.40

4.28 4/7
5.NOT



The income of A is 25% more than that of B and the income of C is 65% less than
the sum of the incomes of A and B. Income of C is what percent less than the income

of A?
A T 3T B <Rl 3T T 25% TR T AR C AT 3T A TR B il 37T &6 T H 65% HH
2| C <hY 3= A Y AT | Tohaw afavra e 22

( (£20) > - 28

3.35
4. 37
5.NOT



Two numbers are 90% and 75% lesser than a third number. By what % should the
first number be increased so that it becomes equal to the second number?

3T HEATU Teh S 1E TEIT H 90% 3T 75% hH 3| Ugei! HEAT &l fohdT % o I

ST =12 AT{eh 78 TA HEAT o e g ATg?

b4 N ;°/ 1. 250
[ MY,

3.150
4.100
5.NOT



A man donates 30% of his wealth to charity. 30% and 25% of the remaining wealth
to his wife and son respectively. The rest he divides equally between his three
daughters. One of his daughters gets 42 lakh rs as her share. What was the man's

wealth (in Rs lakhs)?

Uh 3MEHT 3T Ul &l 30% & & Sdr ol AW U &l 30% 3R 25% HAA: 3D Tdl
IR 9¢ @ eI Srar &1 arehr ag 3uer 9 dfedt & i gH §u @ fQarea war §
Sclchl Teh ¢l &l 38h RET & FT H 42 o9 30 Fera &1 39 3¢ Hr gufa (@t sud
H) a1 A7

0 1.280
(R gkt 2.400

3.500
4.350
5.NOT



40% of the employees of a certain company are men and 75% of the men earn more @Y
than 25000rs per year. If 45% of the company’s employees can more than 25000rs
per year, what fraction of the women employed by the company earn less than or

equal to 25000rs per year ?

Ueh TATRIT DUl & 40% HHAIN oV & HAR 75% cri?rzrézsooomﬁyfﬁzﬁmﬁ
%Izri%;a?u?ﬁas%/awﬁinfruﬁzm‘rzmoom 37TP AT Hhd ©, dl HUAT gIRT
o ARSI T fohdar 3197 Ufd a¥ 25000 3UA & hH IT 3Uch SRTGT HATAT &2

( > 1.%
2.%

3.2/3

4.4/5

5.NOT




If the numerator of a fraction is increased by 20 % and denominator is decreased by
10 % then resultant fraction will become 12/19. Then find the original fraction?

ATS Teh 39T o TRTUTR H 20% ohT FTeg BT § ST WIS | 10% 1 HHT 6T AT 8, T
TRUTTHT 19T 12/19 BT ST AT T A9 AT Hriorar?

= \) 1.11/19
ct 2 10

3.21/29
4.12/19
5.NOT



If the numerator of a fraction is increased by 400 % and denominator is increased
by 500 % then resultant fraction will become 15/22. Then find the original fraction?

afe Uh 31T % TT0TR F 400% T Jhg Tt ¥ o7 9reteh § 500% H1 Jhg Bet 2, A
TRUTTHT ST 15/22 BT ST AT e A9 AT Hriora?

( N> 1.3/11

2.9/11
3.12/23
4.13/27
5.NOT



If the numerator of a fraction is increased by 16 2/3 % and denominator is
decreased by 7 1/7 % then resultant fraction will become 2/3. Then find the original

fraction?

gie Tek 39T o TIUTEh W 16 2/3% <kt g BT & HR WISTeh W 7 1/7% <k HHT BIelt &,
TROTTHT ST 2/3 21 TG A HeT ST A1 shiferar?

</ j\$> 1.5/9
2.4/11
3.12/17

4.6/13
5.NOT



If the length of a rectangle is increased by 20% and its breadth is reduced by 10%
then find the percentage change in its area?

e, Teh ST shl TSATS | 20% hl Theg BT & 3T ST TTSTS H 10% hT HHT <hT SATelt
2, T 39k AT § Tfa9Ta TiaEd=T JTd shifTa?

w m> 1.32
2.12
3.8

4.13
5.NOT



